N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy
1%} - [%]
104 ................................... % ------
=
310
10°
[ 3 ARE AR RE AR SEEEEERSEREEREEEE. R IR 12 Y AL EE R EEEEEEREERE R, VLR I thY SRR ISRCE RS . 1 IR IR | A1 | WA 1] 1) .
: L
(10 R R : [:
o) A
g } i AT TR i WA T .
] i TR s S
1 |IH I|I|! ‘i:i:il ‘”HH‘ ’| || |I |‘M [ Wl | | !lu‘“: j ||I||H mWHI o
i AR
O A |\|||||‘.L1\MW M FilhiA i il L ooi kLU (0l
55 20 15 10-5 0 5 10 15 20 25 525 -20-15-10-5 0 10 15 20 25 925 -20-15-10 - 10 15 20 25 "=25- 20 15 10 - 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2
g
o
8
=
3 10
1
lr o
o)
I
- i o
%5 3030 0 10 20 30 %5 —30 30 0 10 20 30 °‘—930 —2 20 30 °%36- 20 -10 0 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


